Sr Questions Answers Choice

A. Aggravation
Frustration
Comfort
Ease

1 The synonym of 'solace' is ............. .

Criminal
Crimenal
Criminall
Crimminal

2 choose the word with correct spellings and fill up the bubbles sheet.

Minut

Minote
Menite
Minute

3 choose the word with correct spellings and fill up the bubbles sheet.
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prison

. Perison
. Prision
Preson

4 choose the word with correct spellings and fill up the bubbles sheet.

Amaz
Amase
. Amaze
Amas

5 choose the word with correct spellings and fill up the bubbles sheet.

Amaz
Amase
. Amaze
Amas

6 choose the word with correct spellings and fill up the bubbles sheet.

. Diognose
. Diagnose
. Deagnose
. Diegnose

7 choose the word with correct spellings and fill up the bubbles sheet.

. Paralel
. Parralel
. Parallel
. Peralel

8 choose the word with correct spellings and fill up the bubbles sheet.

. Leiear
. Liar

Leaar
. Leear

9 choose the word with correct spellings and fill up the bubbles sheet.

Surety
Surty

Shurty
Surrty

10 choose the word with correct spellings and fill up the bubbles sheet.

Astonishd
Astonisd

. Astonished
. Ashtonised

11 choose the word with correct spellings and fill up the bubbles sheet.

Sturdy
Stirdy
Sturedy
Stardy

12 choose the word with correct spellings and fill up the bubbles sheet.

Aplouded

Applauded
. Applauded
. Appleuded

13 choose the word with correct spellings and fill up the bubbles sheet.

Since

Before
As
So

14 L I have no money, i cannot go for shopping .

Proper

. Reasonable
. Acceptable
. Sufficient

15 The instructions were not_adequate to deal with problem. the underlined word means.
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16

17

18

19

They left before the concert ended. the underlined is an adverb clause of.

He could not go home ........

he had no place to go. Choose the appropriate conjunction.

It was hot' he was wearing a coat. Choose the appropriate conjunction.

with nazsh.

A. Time
B. Place

D. Manner
A. But

C. Though
D. Then

A. When

B. Then
C. Because

A. Do not agree
B. Agree

D. Will be agree



